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The following problems were given as poppers.
Let's work through these.
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Recall:
L’'Hospital's Rule: (0/0) Case.

Theorem Suppose that fand g are
differentiable functions with ¢'(x) = 0, and

suppose “0" ad.
7]
flx) = 0and g(x) = 0 Jorum

asx — ¢ ,c ,c,o,—o. Let ] be a real number or

+00,
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and...

L'Hospital’s Rule: (/) Case.

Theorem Suppose that fand g are
differentiable functions with ¢'(x) = 0, and
suppose < 5o . Lorm
fix) = +eo and g(x) — +o E
asx — ¢ ,c ,c,o,—o. Let [ be a real number or
+oo.
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Recall: Iim (e +2x)
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